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Upunmuywb pGuysmpjul Yulwjp (punwpwjhb, gjninuwlywb) pun mwphph b Gpput dGwo
tptfumGtph pywpwGulh

UulybpwGh ppowG 15 L pwupdp mwphph Jubwjp

Unynuuuy 2.3

Gulwyp puwn tipplt 0Gwo tphjuwltph pyuwpwGwyh
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CGnwakOp 6709| 1366 513 1152 1524 973 1181 7014 18295 2727
15-19 643 610 28 5 0 0 0 0 38 59
20-24 629 371 129 106 17 3 3 15 419 666
25-29 595 126 84 229 125 23 8 44 1053 1770
30-34 484 45 47 183 135 56 18 100 1142 2360
35-39 499 20 27 151 197 68 36 213 1405 2816
40-44 595 34 38 127 243 98 55 310 1723 2896
45-49 547 28 28 89 203 113 86 503 1770 3236
50 L wytgh 2717 132 132 262 604 612 975 5829 10745 3955
Lunupwjhl 837 230 62 165 205 85 90 558 1905 2276
15-19 115 115 0 0 0 0 0 0 0 0
20-24 89 58 18 10 2 0 1 5 49 551
25-29 70 20 15 22 11 2 0 0 100 1429
30-34 62 7 6 32 9 6 2 10 131 2113
35-39 70 4 4 23 31 6 2 12 179 2557
40-44 88 5 4 27 37 10 5 25 234 2659
45-49 74 2 4 21 30 11 6 36 216 2919
50 L urytijh 269 19 11 30 85 50 74 470 996 3703
Qw6 5872 1136 451 987, 1319 888 1091 6456 16390 2791
15-19 528 495 28 5 0 0 0 0 38 72
20-24 540 313 111 96 15 3 2 10 370 685
25-29 525 106 69 207 114 21 8 44 953 1815
30-34 422 38 41 151 126 50 16 90 1011 2396
35-39 429 16 23 128 166 62 34 201 1226 2858
40-44 507 29 34 100 206 88 50 285 1489 2937
45-49 473 26 24 68 173 102 80 467 1554 3285
50 L wykjh 2448 113 121 232 519 562 901 5359 9749 3982

*  8mgwlhyGpp Ghpuwnnd GG dhwyl YaGnuGwohG tphfuwGhphl: Opnhgpyuo L pGwiwlyuwwo tpbfuwbbpp,
hGswtiu Gl wintulm GwhuyhG wintuGmpniGhg mGhgwo tptjuwltpp,
wnyjwy YGng oGGnwptipwo tptfuwbtph pJuwpwlwyh vt st6 hwpywnyty:

**  SmguwlhGhpp unwgyty GG «oGwd tptfuwGhph pnphwlnmp pupwiuyp» b «plpudtip JulGwig
pywpwluh» wynitGuyltinh hwiwwwwmwuhuwl nnntph hwpwptipnpniGhg:
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